Js (mod 5)

blocks | defect matrix
G: 1 2 14 x 6
2 1 4 x2
3 0 1751 = x13, ¢8
4 0 2251 = X18, %10
5 0 3001 = X20, ¥11
2.G: 6 2 14 x 6
[ 0 501 = X25, P14
8=17 0 902 = X26, ¥15
9 0 3501 = x37, ¥20

Block 1: | o1 @2 @3 w4 @6 @9
11 = Xl 1 .
141 = X2 . 1
145 = x3 o1 .
211 = x4 1 pr = L
212 = X5 . . 1 ©2 = 141
b1=x6| 1 1 1 w3 = 21
631=xr| 1 . 1 1 . . o) = 41,
1261 = x11 . . . 1 1 . we = 891
1891 = x14 1 g = 189
1892 = x15 . . . 1
241 =x16| - 1 1 1
2245 = x17 .11 . -1
2881 = X19 o1 . S
3361 =x21| - . 1 1 1 1
Block 2: | p5 7
701 = X8 1 . @5 = 701
702 = x9 1 . pr = 90
901 = Xx10 1
1601 =x12 | 1 1




Block 6: | 12 913 ¥16 P17 P18 P19
61 = x22 1
62 = X23 1 .
143 = X24 . 1 . . . .
561 = X27 . . 1 . . . Y12 = 61
562 = X238 . . 1 . . . P13 = 14y
641 = x29 . 1 pv1e = 561
642 = X30 . . 1 @17 = 641
841 = x31 1 1 . 1 P18 = 190,
1269 = x32 1 . 1 1 P19 = 2024
1263 = X33 1 . 1 1 . .
2161 = X34 . 1 . . . 1
2521 = X35 1 . 1 . 1 .
3362 = X36 . 1 1 1 . 1
4481 = x3s . . 1 . 1 1




